
15 Nor 2023 Sparsest Cut

A gaph with a sparcecut:
A "cut" in this context is a partition of V(G) into

Sets A,B, both non-empty-

The sparsity of
a cut

·
More generally

,

in the context of a set of vertex pairs

we wish to separate, ((Si, ti) : i= 1
, -- k)

Say
Sep (A ,B) = #Gi/ SicA , tizB or SizB, ticA]

and A, B)
Sparsity (t , B) =

sep (A,B)

The definition above corresponds to k= (2) and

the set of pairs (siti) is al vertex pairs .

This lectural focus on undirected graphs.

How to verify a groph has no cuts

with sparsity - V, for some v ?

One answer : A concurrent multicommodity flow
- --

of value r
,

is defined to be a

ketuple of flews
S (fy - - - , f) ,

such that fi is a fow of value

from si to ti






